
 
 

 
 

  

              2016

            }

  {  950.014 

    

                 

 

  5202306

 612        3228  1974   

  



 
  

1 

18

 
 

  
  

2  

1  

2  

3  

4  

5  

  

 3  



  
 

 

  
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=Zz(5%)Z = 1.96    

 

=p0.5P = 0.5                          

 

pq= 0.25 pq 

= NRNR=4% 

= DEDE = 1.8 

 

= HH`S20126.3 = HH`S 

      7.8 = HH`S 

      6.7 = HH`S 

= r182014   r = 54.2% 

= d   d = 0.014                                                  



 
 

4 



   

6

867 

 

 

 33



 

  

 6

6

 



 
 

 
 

                 

520218

5202 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

 

 

 

 

5 

 





 

 

  
 

   

      

 42  252  9  54  51  306  

 25  150  26  156  51  306  

 51  306  0  0  51  306  

 25  150  26  156  51 306  

 24  144  27  162  51  306  

 33  198  18  108  51  306  

 26  156  25  150  51  306  

 33  198  18  108  51  306  

 33  198  18  108  51  306  

 23  138  28  168  51  306  

 21  126  30  180  51  306  

 28  168 23  138  51  306  

 30 180  21  126  51  306  

 39  234  12  72  51  306  

 30  180  21  126  51  306  

 37  222  14  84  51  306  

 38  228  13  78  51  306  

 538 3228 329 1974 867  5202  



 
 

 
 

6 



ih Phi 

Phi = mhi  / Mhi 

 

 Phihi 

 mhihi 

 Mhi hi 
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